CBSE Class 12 Biology Compartment Question Paper 2020 (September 22, Set 2- 57/C/2)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(i1)
(ii1)

(1v)

(v)

(VL)

(vii)

This question paper comprises five sections —A, B, C, D and E.
There are 27 questions in the question paper. All questions are compulsory.

Section A — Question nos. 1 to 5 are multiple choice questions, carrying
1 mark each.

Section B - Question nos. 6 to 12 are short-answer questions type-I,
carrying 2 marks each.

Section C — Question nos. 13 to 21 are short-answer questions type-11,
carrying 3 marks each.

Section D — Question nos. 22 to 24 are short-answer questions type-I111,
carrying 3 marks each.

Section E — Question nos. 25 to 27 are long-answer questions, carrying
5 marks each.

(viit) Answers should be brief and to the point.

(1x)

(x)

(xt)

B
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There 1s no overall choice in the question paper. However, an internal
choice has been provided in two questions of 1 mark, one question of
2 marks, two questions of 3 marks and three questions of 5 marks. Only
one of the choices in such questions have to be attempted.

The diagrams drawn should be neat, proportionate and properly labelled,
wherever necessary.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

The role of FSH 1n the process of spermatogenesis in humans is to 1
(A)  stimulate the secretion of certain factors from Sertoli cells.

(B) 1nhibit the secretion of testosterone from the interstitial cells.

(C) stimulate the action of testosterone on Sertoli cells.

(D)  stimulate the secretion of LH from pituitary cells.
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2. I AT T ARl § SHUSH ATgeion o feeriehtor gy fudt (yer)
YT HH Tl S ARASFIT & 1

(A)  TETEFE AT UAIgIFFT
(B)  OFI9isRord a9 Uva?w

(C) BT QA FiEdlh
(D) OFIGIEReTH dAl UFicidaet

GOC
TIgY (Fa&q—) HHd ol (ferggetr) w6t ffeshar wfawen gem shedr 2 =i
30 T gicieft B @ 1
(A) IgA

(B) IgM

(C) IgE

(D) IgG

3. nﬂaﬁaﬁﬁﬁﬁmaﬂﬁﬁQW% 1

(A) SHSIgoH
(B) TS

(C)  giceht (THgetm)
(D) - qleehl SEAHb TIIEAA

SO
Q&S| 4 Ug[s- &AM o YUl U GaUl i (HIHT i dTcd GIHM 1 I @ 1
(A SitwE. (GH)

(B) TU%.®H.U<. (FSH)
(C) TA.TH. (LH)
(D) Uieifaed

4. S-SR Y= ° S9N hl I areft ‘3fueen sheil 8 1
(A) TwifSHS

(B) 9fdeyd TSTSH

(C) HaEH

(D) T et

5. A1 ST Sl ShICHTSIeh TN 1 helehill hid @, d 3HH U BId @ : 1
(A)  UTH TTicTeh hiH

B) FFhE (fwereH)
(C) Tah! Db

(D)  SgFicrq gRAIEE
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2. Some cyanobacteria in aquatic and terrestrial environment that enrich
the soil by fixing atmospheric nitrogen are 1

(A)  Rhizobium and Azotobacter
(B)  Azospirillum and Glomus

(C) Anabaena and Nostoc

(D)  Azospirillum and Azotobacter

OR
Colostrum provides passive immunity to human infants as it contains
antibody 1
(A) IgA
(B) IgM
(C) IgE
(D) IgG
3. The specific site for fertilisation 1n human female 1s 1
(A)  Infundibulum
(B)  Uterus

(C) Ampulla
(D) - Ampullary isthmic junction

OR
The hormone that regulates the synthesis and secretion of androgens in
human males is 1
(A) GH
(B) FSH
(C) LH
(D)  Prolactin
4. In biotechnology experiments, ‘molecular scissors’ used are 1

(A) Plasmid
(B)  Restriction enzymes

(C) Vectors
(D)  Sigma factor

. ‘Cry genes’ that code for insecticidal toxins are present in 1
(A)  Cotton bollworms

(B) Nematodes

(C)  Corn borer

(D)  Bacillus thuringiensis
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6. O S IYUJ (SHTAN) T FI1 T L JTd @ Aelich Ho A UTSHMISHIA |
Il STd & ? 39 YR o Siial § § YcIeh ol Ueh-Ush 318Ul Gt | 2

7.  USA A U™l 4 YUl JUTAar hi WAk shi SIRSAT Ha&l shl | 31Ul JHTiordT
I Tt I89 1 Teh 3180 ST |

tied & 39 999 1 9 for@e 38 3g@ Hifu fEe e 98 SiH
& Sl 3TYUl YHTierdT e hid & | 2

HAAT

3ATeh 3Tk o TRl HeL 1 Ueh ARl TIeT &1 9T 379kl I8 JTd HH

foTe gt T I8 THTHS AYAT [TTHFs oFar 91 8 | U 10 36 dig <
STt T&Y FTd i =g AT 1 3T Hyl 2 2

8.  SLUAU. ISl hl Yadl SWId §C Ush i@ 3hls 1 Ush IEATcHS TG
SIS dYT 38k heciGH o9, Fld Tog] adl ZiHAST (GHh) <hl HATHTIhd
I | 2

9. %S W b UTHES Sa (TMY]) T=SU & Hed ° HH IR F Yiase gl 39
T ST ¢ 2 )|

39 Yk o T
(i) SIS S U w1 AT forgeRt Wmehies Sfia w1 S A fafag |

(i) UH gAMY (FM) AT & W g R g w1 IS AW
ferie | 2

10. AT o1 8 ? I8d1 4Tyl o ShiaH HehUl H $Heh] HEdl (HEW) ol 3@ i | 2

11. (a) difgd Ad9d o fgdi¥es IU9R & Ugd dIT 39U-d «1.37.81. (BOD) &
T H I hl Iol@ Oﬁf\sﬂl |

(b) dTad A o fgdi¥eh IR o S Hiveh (FATHd ) ohl HEwd [TRIU | 2

12. Tl 3 g wacl % W FaRC s Jeciiehd a1 ST 8 | 3g@ hif,
fehT TR | 2
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SECTION B

6. Why do some organisms enter into diapause while some others into
aestivation ? Give one example each of such organisms. 2
T Mendel did not explain the expression of incomplete dominance i1n plants.

Give an example of flower exhibiting incomplete dominance.

Name and state the Law of Mendel the genes which exhibit incomplete
dominance follow. 2

OR

Your teacher gave you a tall pea plant and asked you to find whether the
plant 1s homozygous tall or heterozygous tall. How will you proceed to

find the genotype of the given plant ? 2
8. Draw a schematic diagram of a transcription unit with the polarity of the

DNA strands and label coding strand, template strand and terminator. 2
0. Causative organisms of some diseases gain entry into human body

through mosquito bites and make humans suffer from the disease.

Name one such.:

(1) protozoan disease along with the scientific name of the causative
organism.

(11)  helminthes disease along with the scientific name of the causative
organism. 2

10. What i1s ‘bagging’ ? State its importance in artificial hybridization of
flowering plants. 2

11. (a) Mention the difference 1n the level of BOD before and after the
secondary treatment of sewage water.
(b)  Write the importance of ‘flocs’ during the secondary treatment of

sewage. 2

12. Name any two cereal crops that have been fortified. Mention how. 2
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W us 1

13.  “hIeil-eh Wdl i ATAT TohH™ HEAT hl BTH G5 It Gigehl hl HH 6 oy
STHEZRL gTi-ehieh TEEHAT Sl JINT 1 F81 hidl ? diF 0 gd g HIA h

ST hiTT | 3
14. HHd IGEHI] ob diF Tai= AT 1 910 7@t Y= IshH H 3ehl T@HTHIAl

(gfrepr) fetfaT | 3
15. 9O Tdargd gl (ITeAi) ol Ffchcaes AR E.T%. (IVF) 6l darg &1 <d

3 ? ‘.. Uh. GihAT H AYATE AW dTe] TN ehi AT hifoT | 3
16. S1.UA.U. Yldepiddd & A Uldeplaaa fgema’ # g arelt gitgerel sl e

I | 3

3T

Teh THHohgehl hIRTERI H YU M aTcl (didd JhR o IR.TA.U. HiAHST

1 TIRaU | SgeiEq | 39eh! YHeh1A1 bl Soct@ Wi hifT | 3
17. $ape BH HJI ST (TATUA fhU) ATd 8 2 Dope BIH YagH H Tohd-fobd HeIeenl

1 €I TIT FMBE, ? 3

18.  3H dehHleh sl JUM hITSU TSTHehT ITANT MY 1 T fa&qd =90l g ¢ JHMH
W (TS g H)-ATTefeTd SI.UH.T. It hid o e 9Tl @ B R AT 2 | 3

19. URSIE! SIq 1 7 ? SIehl L&t FeTu g WREE e Gl gd 39kl IUAN

o IR TohaT AT B 2 SIREdT hifNrT | 3
20. Tcdh o Uh-Ush HHUA 3a[eWU hl HEFAl H SgUWIEdl Td 314 Sl IRmTid
% gy faqug $iT | 3
SOEC|
U T Bleed g WTad 9iehedl 1 Seai@ (JU) <hifol@ | TH.TA.
e 9 39 JINTIcHeh &9 v TehR g foham ? s Shifse | 3
21. T 98 A TRk dehdieh (T.AR.E.), 3TA:hIREHT IV Heiqur qo
HIATHIIRT 8= Th-gel ¥ fohl Yo 13 & 2 ST 11T | 3
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13. Why does an organic farmer intentionally not use toxic chemicals to kill
the pests which damage his crops ? Explain giving three reasons. 3

14. Name the three different parts of a human sperm and write their
involvement in the process of fertilisation. 3

15. Why do doctors suggest some married couples to go for IVFEF’ ? Explain the
steps carried out in the process of ‘IVFE". 3

16. Explain the events occurring in a ‘Replicating Fork’ during replication of
DNA. 3

OR

Name the different types of RNA polymerases in a eukaryotic cell. Write
their roles in transcription. 3

17. Why are poultry farms set up ? Write the different components to be kept
in mind in poultry farm management. 3

18. Describe the technique that is very effectively used to get a large amount
of desired DINA for research and detailed investigation. 9

19. What are transgenic animals ? How are they being used for vaccine
safety and chemical safety testing ? Explain. 3

20. Differentiate between pleilotropy and polygenic inheritance by taking one
example of each. 3

OR

State Oparin and Haldane hypothesis. How did S.L. Miller
experimentally prove it ? Explain. 3

21. How are the two Assisted Reproductive Technologies (ART),

intracytoplasmic sperm 1njection and intrauterine 1nsemination
different ? Explain. 3
-
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22. 99 I91 U 1&d @ | 89R <91 H fOa &3 e3rehl U STl <kl HAfSE 1 ThR gedl
ST @ AT | 39 g TIefiS & S0 % {0 &9 1973 § 919 =131 qiEiSHl

1 I TohIT TR | I8 Teh WG 3 & Toh 3Hh hold®d IS & ghl I
TR <N W 9TEl Shl TEA/AAtse o shiteh 9fg B Wl R |

(a)  STHl Shl GHNE H BTE o [T ITGRT Teh THE@ U 1 Ieoi@ hirg |
(b)  Sia-Tafagdr TEThdieAl gRI fhU 7T Tsh II@ T9E &l Toiigu RorEeh

SR STe hl &I/AEee § gig | gl THedl |
(¢) TorEl 99 &3 ° &9l <hl AT <hl TUET AT ohE TpR |9 &l 91dT § ?
3ol hifTT | 1+ 1¥7=3

23. J.U9. UM A SIFEGT TERE W U g HU e IR T 9
S (yty) 9t AN o T 9Tt o9 (w/w) Ffrd o Iﬁ%Flﬁﬁﬁﬁ%aﬁ‘»

SATEYTcH UGRI ohl AT <hifoTT qAT ST YT o I GIT
g A
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SECTION D

22. Tigers inhabit forests. Over the past many decades the tiger population
was on the decline in our country. A project ‘Save Tiger’ was launched in
1973 to conserve this precious species. It 1s heartening to see i1n the last
couple of decades that there has been a gradual increase in the tiger
population in our country.

Answer the questions :

(a) Mention one major cause responsible for the decline 1n tiger
population.

(b)  Write one main effort of the biodiversity conservationists that
must have helped in the increase in tiger population.

(c) State how 1t 1s possible to count the number of tigers 1n a forest
area. I1+1+1=3

23. T.H. Morgan carried out a cross on Drosophila Melanogaster, involving
genes for body colour (y*/y) and genes for eye colour (w*/w). Study the
schematic representation of the cross upto F; generation and answer the
questions that follow :

Cross A
v W ytwt
Parontsl - . @ - . @
CH = o —
y W
Yellow, white Wild type
y w y w
F, generation ™™ (O . (O
CHl W £ —g
yt wt
Wild type Yellow, white
57/B/2 2 11 _PTO.
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(a) I8 IS9 TR T shid JERIA id &, I°h! I TTRgy |

(b) 3@ o T b de¥ H YYTET gRIUET (BIHIERT) i UgaH L foiigu |
(c) T T IO T HSTEd g4 ST hl AT gl SIal B ? 3

24, oty wisitsr o fofirs YRR 6 glg ki bl A=l fQU 7T 7% | qorrm 7= 3 |

THS 99ca (N)

3eh] I HL 914d JAI o 3L ST
(a)  UTH.H dhg Fsh ‘@’ h YR 1 A fIiay | 1
(b)  Jig dsh b I ANSIECh Ish FAT Hgl SATdT @ ? $EhT Teh R foif@y | ]
(c) WAINIEeh dsh o @Y QU U FHihm ‘iilf = rN _KI_{N_ﬁ‘K’?EIT
H&Ud tar g ? 1
QUE &
25. BISl-9eT BT H faeny o= 3d a1 8 2 UH foheal IR 92ehl o 9H faikau
S 39 GTIAT Sl TNTfad ohid & | 3Tl shifse foh 918 hd yeTferd i @ | 5
GOC

“TershTe YTehicish QAT H GAMEY B1H dlcl YREdHl Td Sidl H SIAasl gid
Il IcANEAHT I YTRA ATgfedeh TshH & |7 Teh HHAA 3TN shl Rl ¥
5
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(a) Name the kind of cross i1t represents.

(b)  Identity and write the dominant phenotype with respect to eye

colour.

(c) What are these genes located on the chromosome shown referred to

as ? 3
24. Study the graph given below showing the different types of growth curves
of different species.
A
"dN
=rN
dt
2
>
<+
"0
-
D
L
-
o=
4=
<
=
@F
O
A
Time (t) >
Answer the questions :
(a) Name the type of growth curve ‘a’ shown in the graph. 1
(b)  State one reason why the growth curve ‘b’ 1s said to be logistic. 1
(c) What 1s ‘K’ representing in the equation illf =rN KI_{N given
along the logistic curve. 1
SECTION E
25. State what 1s disturbance in Hardy-Weinberg equilibrium indicative of.
Write any four factors that affect this equilibrium. Explain how. 5
OR
Explain with the help of one suitable example that “Evolution 1s a
random process based on chance events in nature and chance mutation in
the organisms”. 5
-
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26. (a) Y&l W Sfigd i Icafd q°n S9-fafouasqu (SReEafiihesd) o 376
deh Sidl @b e foaaldd i fopa-l UiareATd 81 bl 8 a9 9| o
$H-9T T T8 ?

(b) 9B §Y AU oAl § Torcdd= hl Id9™ WIid fohH TehR {37 B 2
() 38 HeH H yTifeufdshifeal shi ferare =i feifay |

(d) Teh 3ICTELUT ol HEAT ¥ HElaeIedl shi ST hifT | 5
SOCI

ITAU hATHITHAT TSH o 3Tehie] &L o HOTe g qUfRse I e wi

foru 319TE U fafse =on sk s i E

27. Uk AFqsis H Hfcilad YshHl | g4 aredl qitgrereai s i@ hifsu .

(a) UFT-EhET Heh¥UT h1 JUH YUIHIIhl o diavg H Ylase g4 deo
1T, |

(b) QW Y= | 5
ST

it H ST YshH T THTRA = feiRad It < 3 felfe -
(a) " & UfhIT H N HE URY Bl 2 ?

(b)  3ASIAT o UshH o TdIHE TN hl SITRSTT JIaRH T FASIcHT BH deh hl
37T deh hiTT | 5
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26. (a) How many episodes of mass extinction since the origin and
biodiversification of life on the Earth have occurred and which one

1s presently in progress ?

(b) How 1s the present one in progress different from the ones that

occurred previously ?

(c) Write the concerns of the ecologists in this respect.

(d)  Explain coextinction with the help of an example. 5
OR

Explain the steps carried out in purifying the wastewater by the citizens

of Arcata in the State of Northern California. 5

27. 'Trace the events that occur in an angiosperm during

(a)  Pollen-pistil interaction until pollen tube enters the ovule.

(b) Double fertilisation. 5
OR

Answer the following questions based on the process of oogenesis In

human female.:
(a) When and where does the process begin ?

(b)  Explain the steps that occur in the process of oogenesis up to

ovulation on the onset of puberty. 5
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